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Most pensions are below the poverty line, notably for

Distribution of pensioners by pension amounts, 2021
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OECD (2022), OECD Economic Surveys: Korea 2022, OECD Publishing, Paris
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Notes: Data are for 2016 except for some countries; see note of Table 7.1 for details.
Source: OECD Income Distribution Database, http://www.oecd.org/social/income-distribution-database.htm (September 2019 version).
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2020 274,025 270,034
20254 61,1449 i
2030 822,011 34,1409
2040H 977,103 428,5109
2050 10728,7949 625,817
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20304 263 2.564

20354 274 2.063 (0.099) 9.9%
20403 283 2.761 (0.099) 10.9%
20454 294 2.860 (0.099) 11.9%
20504 304 2.959 (0.099) 13.1%
20554 314 3.057 (0.099) 14.4%
20604 324 3.156 (0.099) 15.8%
20654 334 3.254 (0.099) 17.4%
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20304 264 1.258

20354 274 1.306 (0.048) 9.4%
2040 284 1.354 (0.048) 9.9%
20454 29'4 1.403 (0.048) 10.4%
20504 304 1.451 (0.048) 10.9%
2055 314 1.499 (0.048) 11.4%
2060 324 1.548 (0.048) 11.9%
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2030 264 1.282

20354 274 1.331 (0.049) 9.4%
20404 284 1.381 (0.049) 9.9%
20454 29'4 1.430 (0.049) 10.4%
20504 304 1479 (0.049) 10.9%
20554 314 1.529 (0.049) 11.4%
20604 324 1.578 (0.049) 12.0%
2065 334 1.627 (0.049) 12.6%
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4= 2i Xl (2022'A) 2040 2050 2060

3.0 1.000 1.077 1.154 1.231

4.0 1.131 1.218 1.305 1.392

5.0 1.285 1.384 1.483 1.582

6.0 1.465 1.578 1.691 1.803
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Question?

choicel1313@hanmail.net




